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Topic:- Chemistry
1)
Question Stimulus :-

Naphthalene contains 93.71% carbon and 6.29% hydrogen. If its molar mass is
128 g mole'1, then its molecular formula will be - / AR A 93.71% Brad 3R
6.20% BISSISH 8, Tl AT SHATH 128 mole™! 3 T SUST VR EIMI-

* CgHg
* CioHs
CioH1o0

* CgHg
Correct Answer :-C;gHg
2)

Question Stimulus :-

Which of the following contains highest number of atoms? / Frafafaa d 9 o=
HalfIe URHTU] TBAT aTelT 32

e 1.0gofwater/ 1.0g qrHt
e 1.0 g of silver/ 1.0g Rrea=
e 1.0 g of nitrogen/ 1.0 g T-I'E@FF-I
e 1.0 g of propane/ 1.0 g Ik
Correct Answer :-1.0 g of propane/ 1.0 g PINE|

3)

Question Stimulus :-

When the temperature of an ideal gas is increased from 2°C to Q‘PC, the kinetic

energy will be - / af¢ f&dt amest A9 &1 a1y 27°¢c ¥ *4' ¢ geran wd, A IS9P fas Sl -

()
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Same/ WQ%Tﬁ

Four times/ iﬁ"f—ﬂﬁ"ﬁ
Twice/ ﬁ'ﬂﬁ’fﬁ"ﬁ

No effect/ Hﬁ'é’ UHTT 81 gRM

Correct Answer :-Four times/ T[T gift

4)
Question Stimulus :-

Magnetic quantum number for the valence electron sodium is - / Tqifsan &

HaISThdl I &b SAGE B TP FaicH G©T 8-
e 0
e 1
e 2
e 7
Correct Answer :-0
5)
Question Stimulus :-

The correct order of radii is - / T ®1 98! FH 8-
* N<Be<B
¢« FF<02"<N?3"
® Na<lLi<k
e Fe3*<Fe2*<Fet*
Correct Answer :-F"<02"<N3-

6)
Question Stimulus :-

Which of the following has largest size?/ fAfefad # 9 G99 g7 PR f5g #7182

@)
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o Al
e AlT

A|2+

o A|3+
Correct Answer :-Al
7)
Question Stimulus :-

A Ne%v carbon-carbon bond formation is possible in- / T PTaA-HIa §Y BT 941
dHTd § -

e Cannizzaro reaction/a’_-ﬂ\_rl'R'T Srfuferar &
Friedel craft reaction/ firsd ®1ue ifufhar
Clemmensen reaction/ TR fuferar A

All the above/ IWRIad 94t

Correct Answer :-Friedel craft reaction/ fhea w1ue arfufesar
8)
Question Stimulus :-

Among the following the strongest acid is- /fAAfefad # yaa 3 8-

HC =CH

CeHe

CxHg

CH3OH

Correct Answer :-CH3;0H

9)

Question Stimulus :-

(4)
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Toluene reacts with chlorine in the Presence of light to give- / UHIRI 31 Sufyfa #
W9 TR @1 SifUfshar T | 15 oAl @ df ure g &-

« Benzyl chloride/ dWTSd FARISS

« Benzoyl chloride/ SSisd TRIES
e p-chlorotoluene/ p-FRI s

e o-chlorotoluene/ o-FRI ETAZA
Correct Answer :-Benzyl chloride/ aTxI'IEFI Wﬁ?ﬁ@

10)

Question Stimulus :-

Which of the following is a coloured gas - / fr=fafaa & @ #9949 %—
* N,O
* NO
* N,O,
* NO,
Correct Answer :-NO,

11)
Question Stimulus :-

Aqua regia is a mixture of - / Uaar Jforar fArgor 2-
« HNO3 and H,SO, / HNO3 3R H,SO,4
e HCl and H,SO,4 / HCI 3R H,S0,
« HNO3 and CH3COOH / HNO3 3fk CH3COOH
« HCl and HNO3 / HCI 3{R HNO3
Correct Answer :-HCl and HNO3 / HCI 3k HNO3

12)

®)
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Question Stimulus :-

The alkaline Potassium Permanganate solution is known as- / g uefRraw
RATHe faeaas wear 3-

e Molish reagent/ At sif eH®

« Baeyer’s reagent/ 3@ 3fHHHS

e Fehling’s solution/ ﬂ%ﬁl‘ﬂﬁ?ﬂﬂ

 Benedict’s solution/ afAf$e faqaq
Correct Answer :-Baeyer’s reagent/ IR fiHHS

13)

Question Stimulus :-

If a neutral solution has pKw = 13.66 at °0°c then pH of the solution is- / Vew
IerfiF fada &1 pKw = 13.66 § a1 39 fada= &1 pH ghTI-

* 6.63

* 7

e 7.63

* None of these/ ?ﬁ'ﬁ I aﬁi G
Correct Answer :-6.63

14)

Question Stimulus :-

The shape of ClO4" is- / ClO4” Pl 3THR 2-
« Square Planer/ T JHdY
e Square Pyramidal/ T fRTfSta
e Tetrahedral/ TG
 Trigonal Bipyramidal/ ﬁﬂﬁﬂﬁm

Correct Answer :-Tetrahedral/ AqSh AT

(6)
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15)

Question Stimulus :-

For the reaction: Hz 712 = 2HL 8H 3,4 AU 316 related as - / H2 712 = 2HL gif¥fepar & forg

AR 3k AU o Wiy ghm-
o AH 5 AU
o AH £ AU

o AH — AU

« Can't say / g gl 9dd

Correct Answer --AH - AU

16)
Question Stimulus :-

Of the following the strongest Bronsted base is - / fFr=fafea o 3 yea amads &R

e-

clo-
clo;
clo;
clo;

Correct Answer :-“10~

17)

Question Stimulus :-

If sulphuric acid solution has PH=2 then its molarity is - / Hﬁ '\‘I?Q?Iﬁﬁ? 3 faea=
&1 PR = 2 3 9t 39t Hierar grft-

e 1/100
e 1/50
e 1/2

e 1/200
(7)
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Correct Answer :-1/200

18)

Question Stimulus :-
Oxidation number of P in P% jon is - / PO amas & p @t iferfieor wiem 2-
e -3
° +7
e +5
e +3
Correct Answer :-+5

19)
Question Stimulus :-

Surface tension of Lyophillic colloids are- / &d 8t &ﬂ?ﬂ%‘s’ DT Yts d-1d glar %—

¢ less than water/ od q &4
« greater than water/ 9@ ¥ 3if¥&

 equals to water/ Td & dcy

e None of these/ ETI'I?I I Hﬁﬁ G

Correct Answer :-less than water/ Sid Jq FH

20)

Question Stimulus :-

Galvanising is a process of - / Aea-®U1 Ufshar 8-
e Coating of Zn on Fe/ Fe X Zn & WU DI
« Coating of Al on Fe/ Fe TR Al & U &
e Coating of Fe on Zn/ Zn I} Fe & qAug Bt

« Coating of Cu on Fe/ Fe W3 Cu & QU+ &1

(8)
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Correct Answer :-Coating of Zn on Fe/ Fe IR Zn & AU Bt

21)
Question Stimulus :-

Chemical formula of meta phosphoric acid is - / #el BRGNS 3 BT IS T

o H2POs
HPO,

Hy PO,
HyPO.

Correct Answer :-HPGE

22)
Question Stimulus :-

During formation of chlorine from HCL MnO; \works as - / 199 R 91 W Mn0:

P1d BT 8-

Reducing agent/3UdTd®d &l

Oxidizing agent/ ATRNPRP BT
Catalyst/ IARE BT

Dehydrating agent/ fASidi®R® &1

Correct Answer :-Oxidizing agent/ AHRINPRD BT

23)

Question Stimulus :-
Hybridization in %% ion is - / X:0:" & W&or grar -

o SpEIdZ
o Spid

o Spﬂ dﬂ

©)
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o dSp?
3
Correct Answer :-SP 4

24)
Question Stimulus :-

On heating ammonium dichromate the gas released is - / 3MfAUH SgHAC B TH
I W o g1 arell 7 2-

e Oxygen/ SfTerTor
e Ammonia/ ST
e Nitrous oxide/ AlgcH JATRITES
e Nitrogen/ T-I'IE@TF[
Correct Answer :-Nitrogen/ H‘IE@T:F-I

25)
Question Stimulus :-

Mostly Transition elements are- / THHUT YTV SffIHiva: gl -
Diamagnetic/ Ufdgr@a®a

Paramagnetic/ 3N
Both the above/ SR aﬁr

None of these/ 70 ¥ &I gl

Correct Answer :-Paramagnetic/ &I

26)
Question Stimulus :-
Strongest Ligand is - / US@dd feAivs 8-

CN™

L]
e DI
e OH™

(10)
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([ ] P_

Correct Answer ;-8

27)
Question Stimulus :-

In which types of reaption the Zigler Natta catalyst is used - / foreER-A1eT SARF
5 yor 3t sfifrar ® vy giar 8-

Hydrogenation/ gsgioriaor
Polymerization/ sgetaxur
Oxidation/ siiadi®zur

Reduction/ 3u=aq
Correct Answer :-Polymerization/ Sgdi®?ul

28)

Question Stimulus :-

Gives white precipitate with Silver Nitrate - / fRIeaR ATg¢e & 1Y Ahe FGAY T 8-

o CCl
CHCl,

. CH, = CHCl
(CH3)3C —Cl

Correct Answer :-(CHE}HC -a

29)

Question Stimulus :-

What will be obtained when phenol is distilled with " powder- / Sid BT &I 20
ol & A1y Srafaa far smar @ 9 ure g 8-

CzH;CHO

CzH:COOH

(11)
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CzHsCH;

CeHe

Correct Answer :-CGHG

30)

Question Stimulus :-

CH, CH, CH, CH,
The product formed when D/ react with RMgX is- / \D/ @t
RMgX & 914 ifHfspar S IR IS U gl 8-
. RCHOHR
. RCHOHCH;
R,CHCH,OH

. RCH,CH,0H

Correct Answer :-RCH2CHz0H

31)
Question Stimulus :-

Compound that gives cannizzaro’s reaction is - / 98 Uifiie s HfAwRT sifufspar -
« benzaldehyde/ SuifcSgEs
« acetaldehyde/ TRICTSEISS
 bromobenzene/ EICICEIR]
e propanal/ UINES]
Correct Answer :-benzaldehyde/ aﬁ%?'r{s'

32)
Question Stimulus :-

The Equivalent weight of potassium dichromate in acidic solution is- / R

SIEHIT FT =Y fay & qouie YR 3 -

(12)
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Correct Answer :-49

33)

Question Stimulus :-

49

98

eY

24.5

294

GET IT ON
Google Play

Chemical name of semipermeable membrane is - / AGURIT %ﬁ’r &1 ISP

e
Copper ferrocyanide/ HIUR BIRIIATSS
Copper ferricyanide/ PIUR ﬁvﬁm
Copper Sulphate/ PHIUR Hbhe

Potassium ferrocyanide/ UleRIaA BIATGATSS

Correct Answer :-Copper ferrocyanide/ PR m

Topic:- Physics

1)

Question Stimulus :-

Rainbow will be formed, if sun is on following angle less then above the horizontal- /

s%UdY 94T 8, afe &fos & SR i = F1v7 F 9 W 3:

Correct Answer :-40

2)

Question Stimulus :-

20

30

40

60

=]

o

o

o

(13)
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For a healthy eyes the resolving power limit will be - / W A7 Bt fave T Ty %—
o T’

Y III

o

o I
N
. ()
Correct Answer :-I’
3)
Question Stimulus :-

If the diameter of an object lens is 0.1 m and wavelength of light is 6000 ;"D,
then its resolving power will be - / T& g3exil & fUTIIS &1 AT 0.1 HIeX TUT YHTA

&1 R 6000 ' g, df sHP AN &ruyar a1 Bhft-
o 61075 Radian ; 6 x 10~° Y37
o 6% 107° Radian ; 6 x 10~¢ Y57
o 6% 107% Radian ; 6 x 102 Y30
o 7.32x107° Radian, 7.32 x 10-8 Yf3T=

-6 ; -6
Correct Answer :-7-32 X 1078 Radian ; 7.32 x 10 =

4)
Question Stimulus :-

If we move from surface to centre of a charged metal sphere the electric field will be -

/ oTg & MARE A F 765 | F5 Bt 3R 911 W fagaa-a3-
e increased/ 9gdl @
e decreased/¥edl ¥
e same as surface/ U5 & JHTE gl @
* zero at each point/ Yd® fig W Y= g1 @

Correct Answer :-zero at each point/ Td® fig W X ¥gaT 8

5)
(14)
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Question Stimulus :-

Cathode rays are - / HUrs fHvol %'-
®* Electro magnetic waves/ﬁ?ﬂ'd ﬂﬁﬂ’ﬂ'ﬂ a3
* Flow of changed particles/ SR FHON HT Yare
* Flow of high energetic electrons /<digwmHt sﬁag"l"—ﬁ I Ydlg
* Flow of Neutron/ﬂ@"l"ﬁ CaRCIE

Correct Answer :-Flow of high energetic electrons /<digamHt Eﬁﬂﬁ:ﬁ DI Udlg

6)
Question Stimulus :-

Transistor is make from- / QTWRET TR §Td %—
e Conductors/ TATADI A
e Insulators/ fagaa At A
e Doped semiconductor/ SIfUd raTa®! |
e Mixed Material/ 3Mqurg I
Correct Answer :-Doped semiconductor/ Sifud ATl o
7)
Question Stimulus :-

Which waves are used in transmission - / gREAR & P! a7 UGS 8-
e Ultra violet/ WRTIT!
e Infrared rays/ 3d¥dd
®* Short waves/ ﬁ&-ﬂ?ﬂ"ﬁ
e Visible light/ = UPIRA
Correct Answer :-Short waves/ J&Ia<dl

8)

Question Stimulus :-

(19)
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Which of the following dipole has maximum potential energy? / a9 A fow %"gﬁﬂﬂ
Rufast et sifipaw gift?

|

Correct Answer -1 "

9)
Question Stimulus :-

125 same small drops are charged with 50 volt potential each. If they formed one big
drop after mixing them, the potential of new big drop is - / @Wﬁ@ﬁlﬂ?ﬂ JE=T 125
2, U@ P 50 dice fava & mafa fpar wirar 81 9@ 3% Sis®r 9+ Tt §g &1 fava grm-

e 50V

e 250V
e 500V
e 1250V

Correct Answer :-1250 V

10)
Question Stimulus :-

Kirchoff firsts and second law shows the conservation respectively - / fFE® & UyH 3R
fadfra foraw e wwaror gafa &

e Linear and angular momentum /3@ AT 3R HIvfig Faw o1

(16)
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e Charge and Energy/ 3Ta3T 3R St &1

¢ Momentum and Energy/ T 3R St &l

¢ Momentum and linear momentum/ SMaRT 3R T HAT BT
Correct Answer :-Charge and Energy/ 3a%I 3R 6l &1
11)

Question Stimulus :-

If I current flows in a circular loop of radius ‘r' then magnetic dipole moment in

equivalant to it, is - / U®% qaild qU 3 341 r 3 I I URT Wa1fed &) W6} 8, 39 god gaaig
fasa &1 amyof ghm-

Correct Answer ;-1

12)
Question Stimulus :-

The additional pressure in liquid drop is - / %3 @ §g # rfafyad g9 giar 8-

=l

2T
Correct Answer :-R

13)

(17)
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Question Stimulus :-

At 27°C the volume of a gas is V and pressure is P. After heating it the pressure
and volume increase two and three times respectively. What is the resultant

temperature of gas.- / 2/ IR & 19 &1 3Md= V 3R I P g1 3 TRH forar wrar &
oI 39T 19 RAT T4 a1 AT 81 STt 81 A9 &7 ufvund} arg ghm-

. 152°C
600°C
324°C
1527°C

Correct Answer :-1°27°C

14)
Question Stimulus :-

If the hot body temperature increase by 50% then the value of emitted radiation

increased with - / If¢ T TH a5 & a9 § 50% gfex HR &t 914 ot ST INfora fafeszor &t arn
¥ gf ey gt -

® 12.5%
* 200%
e 300%
°* 400%
Correct Answer :-400%

15)
Question Stimulus :-

The required pressure ratio in adiabatic change and isothermal change to reduce
similar volume of a gas is - / {5l A9 & maaT & JaF FH FA F G Trw 9YT IHATGHT
faftrat & smaxg® @ &1 IguTd M-

o ¥V

(18)
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e 1/(V 1)
Correct Answer :-/
16)
Question Stimulus :-

If a = -bx is a particle motion equation where a is acceleration, * is
displacement and Y js constant then oscillation time period of particle is- / T®h

gﬁﬂﬁrmmﬂwﬂ—“ g 98T a @RI, * faxumue aur P fAadie g1 &1 &1 3iad &1d

. 2//b

2m/b

~
Correct Answer :-2%/V?

17)
Question Stimulus :-

In total internal reflection the value of critical angle will be maximum when light

passes through - / 0t AR WRTad= & R1Y Hifa® HI01 ARGTH S TGP BT AT 2-
* From Glass to air/®id § gar d
e From Diamond to air/gX & gaT &
e From Glass to water/ &9 & Ul &
e From water to air/d=I & gal &

Correct Answer :-From Glass to water/ &id 9 U=l &

18)

Question Stimulus :-
Circular Motion is - / g«itg 7Ifa gl 3-

e One dimensional / T& faHig

(19)
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e Two Dimensional/ fgfadia
e Three Dimensional/ fafowig
e None of these/ET-l'l?f I ﬁ's: LI

Correct Answer :-Two Dimensional/ fgfasa

19)
Question Stimulus :-
Light year is a unit of - / YT a4 W%—
* Distance/ gil &1
e Time/ HHY &I
e Light Energy/ YTl Sl &I
® Mass/ SHHATT Bl
Correct Answer :-Distance/ gl &I
20)

Question Stimulus :-

If 2 Amp current flows in a coil of 50 mH then storage energy in joule will be- / 50 mH

F1 TP PUsal # 2 TRER B URT yared 81 R @ # Tfud SHoif giil-
¢ 1
¢ 0.1
e 0.05
e 0.5
Correct Answer :-0.1

21)

Question Stimulus :-

A concave mirror which focal length is f. 1f an object of length 6 cm put away at

principal axis on 4f, then the length of its image will be- / tﬁﬂ’;\;—gﬁf & U 3ddd
U & YT & W 4f B g W 6 A ddl axg 7! 81 39 wlafed o1 @68 § -

e 2cm/ 2 It
(20)
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e 4cm/ 4 9+t

e 12cm/ 12 I

e 18 cm/18 ¥t
Correct Answer :-2 cm/ 2 9!
22)

Question Stimulus :-

As well as the speed of fan increase same time current value will be- / S-S U@ &1

el Sgd! B, TI-TT URT-

* increase/ 9gdl 3

e decrease/ Ucdl §

e remains constant/ dg! gt §

* increase, upto maximum speed/ 3f¥® gidl g, T & 3ffUPHIH 81 dP
Correct Answer :-decrease/ Ued! 3

23)

Question Stimulus :-
The resistance of ideal voltmeter is - / maﬁtﬂﬂ &1 ufeiY ﬁm %—
® Zero/ Y™
e Very less /3ifd @g
* Very high/ 3ifd 98¢
e Infinite/ 3
Correct Answer :-Infinite/ 3Aw
24)

Question Stimulus :-

If only 2% of main current flows in a galvano meter (with G resistance) then the value

of shunt resistance will be - / af¢ G UfRIY & YRTATH & T&IT YRT B Fad 2% YRT yared
$-1 g1 df urd ufeRiY ST 91 ghm-

e G/50
(21)
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°* G/49

* 50G

* 49G
Correct Answer :-G/49
25)

Question Stimulus :-

Colour of light may be find by- / Y&T=I &1 31 §Td fHaT SITaT 8-
° Velocity/aﬂﬁ
e Amplitude/ 3 I

e Frequencey/ 331 d

° Polarisation/ﬂ?ﬂw » fAufa
Correct Answer :-Frequencey/ 3gfxi 9@
26)
Question Stimulus :-

Mass of photon in motion- / Tifd 3G®T § WIeId T A 8-

hw

P
r

b

hw

® Zero/ W

hw
Correct Answer :-c*

27)
Question Stimulus :-

Which of the following in not electro magnetic wave - / frefafaa 7 @ 919 @t ﬁ'g','q?l
G T TEY -

(22)
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o Y TW/Y~ fHIOy

* x-ray/ x- ol

e Sound waves/ @f< a3

e Radio waves/ If&al a3t
Correct Answer :-Sound waves/ @ a3
28)

Question Stimulus :-

Spectrometer is mainly used to measure - / WaEHIEI HT BT U A 39S ATYT T IUFT
fopar e 3-

° Wavelenth/?-R'TI%’iIf

° Intensity/?ﬁﬂ?ﬂ

* Polarization/Ydul

° Scattering/ﬁlﬁrﬂ?r
Correct Answer :-Wavelenth/d3e¢ed
29)
Question Stimulus :-

A prism has an angle of > and for red and violet colour its refraction are 1.5 and 1.6
respectively. Angular dispersion of prism is - / T foresT &1 #uT SD%I e 3R S T & ol
P UTAID HHRM: 1.5 3R 1.6 81 ey gR1 3= wivfta faguor g-

7.75°

) 5w
e 0.5
e 0.17

Correct Answer :-0.5

30)
Question Stimulus :-

(23)
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Doppler Effect concern with - / SI@R YT Hdfia 8-
* Frequency/ g
e Reflection/ WRTdad
e Intensity/ Udddl
* None of these/ ?Flﬁ J ?:hT&" &l

Correct Answer :-Frequency/ 3TgfI

31)
Question Stimulus :-

The momentum of heaviour object A is equal to lighter object B, then - / T& Y| futs A

TYUT gAY gob fUUs B & AT JH § -
* Velocity of Bis less than A / B &I dT A " FH ET"IT
e Velocity of B is greater than A/ B &T a1 A ¥ 3ift/& g m
e Both have same velocity/ @ & a7 JHE 8hl
e Nothing to say/ $ gl Hgl AT J&Hdl
Correct Answer :-Velocity of B is greater than A/ B &T a7 A ¥ 3if& g m

32)
Question Stimulus :-

The orbital speed of a satellite revolve very near to earth surface is - / qﬁiﬁ & 3ffq i
UREHHT B A SUUE B & e gl 8-

e V=+/28R
e V=212gR
o V7 \"ﬁ
e V=£2R

_ =
Correct Answer :-’ — V&R

33)

(24)
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Question Stimulus :-

Our sky looks like blue at the time of sunrise and sunset because in this position the
scattering will be - / Gdiqy 3R Guiw & Gy e Hier f@rs a1 8, T 39 fRufa # uatola
BT &-

® Minimum/<dH

° Maximum/élﬁlﬁ'l:r

® Non regular/érﬁlﬂ'ﬁl?l

® None of these/ ?Fl'ﬁ | ﬁé el

Correct Answer :-Minimum /<J1dH

Topic:- Maths
1)
Question Stimulus :-

3+2i
3-2i

Correct Answer :-1
2)
Question Stimulus :-

If 2*+83x+1 3ra jn A.P. Then the value of * will be - / gf¢ 25*+83x+1 gy gofi
A g, a9 * &1 HIH ghm-

e 3
e 7

e 5

(29)
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Correct Answer :-5

3)
Question Stimulus :-

Two numbers differ by 3 and their product is 504. The numbers are- / o TETa BT 3R 3 qUT
T UFEH 504 &, I YTV B--

e 18,6 21

e 19,22

e 20,23

e 21,24
Correct Answer :-21, 24
4)
Question Stimulus :-

If 12p_ =1320 then ' =7 / af¢ 12p, =1320, @9 " =~

Correct Answer :-3

5)

Question Stimulus :-
y=1+2+5+5 400 y=l+-4+=+=+.w
=l+p+o ot =7 =l++5 ot =?
If TR TY ,then*=’ 7 afe TR , Aq X

o l0Z.¥

1
lc:g,!;

e¥

¥
e ©E

(26)
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Correct Answer :-98=7

6)

Question Stimulus :-

1 0 0 1 0 0
A=fo 1 o ] A=[0 1 0| _
If a b -1 then® =7/ gfe a b —1l qg& =7

e Unit Matrix/ S®T3 3ITHE
® Null Matrix/ [ 3TYg

e A
Correct Answer :-Unit Matrix/ §&T3 3T5Ig
7)
Question Stimulus :-
If sin@+cos8 = 1,thensin 8 cos 8 =7 / 'CI'% sin @+ cos8 = 1,33-5111 BcosB =7
e 0
e 1
e 2
e 1/2

Correct Answer :-0

8)

Question Stimulus :-

In AABC jga=3b=4c=5 {hen St 2B =?/ qﬁaﬁ,ﬂqﬁ-a=1h=4,c=5 gq sin 2B =2
e 4/5
e 3/20
o 24/25

e 1/50
(27)
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Correct Answer :-24/25

9)
Question Stimulus :-

. 11 N .
gin 1E+51n 1 =sin"1x

| ba
wl | ba

- . —q1 .
If = sin~1x, then * =7 /_q_%sm 1E+51r1 t qg==?
e 0

VE—4/2

V5+442

w"g + '-'lr\.-"i
Correct Answer :-

10)
Question Stimulus :-

If thijee points (p+1, 1), (2p+1, 3) and (2p+2, 2p) are collinear, then p=?/ afe
d= fdg (p+1, 1), (2p+1, 3) 3R (2p+2, 2p) ININ §, 99 p=?

Correct Answer -2

11)
Question Stimulus :-

A line passes through the point 22 and is perpendicular to the line #+y =3 jts

y-intercept is - / U Ta ¥ foig 22 @ qordt g qur @ V=3 & qrad €, Suel y
— 3:TUS HT g2
® 1/3

(28)
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® 2/3

O |

* 4/3
Correct Answer :-4/3
12)
Question Stimulus :-

Centre of circle ¥~ &)+ G-y -y) =04, gq
x—x)x—x)+y -yl —yz)=0 WW%—

(Xl +¥1 % +}’2)
2 ! 2

H ¥ Xz —l‘r’:)
° 2 ! 2

(Kl +tX2 ¥y +}’2)
2 ! 2

H T Ea }’1—}’:)
° 2 "2

(Xl +X V1 +§r’:)
Correct Answer :-* 2 = 2

13)
Question Stimulus :-

The length of latusrectum of the ellipse % 4" =1ljs - ; &ifga ¥ + ¥ =1%
s 3t @918 8-

e 3/2
° 83
° 4/9
* 89

Correct Answer :-4/9

14)

Question Stimulus :-
(29)
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%BY are the angles which a line makes with positive direction of coordinate
axes, then sin” & 4 sin® B+ sin®y =7, iy @BY freft we ¥ gr1 fAd=niet § e-rere fe=m &
18 T BT & a9 sin @ 4 sin® B+ sin? y =7

e 2
e 1
e 3
0

Correct Answer :-2

15)

Question Stimulus :-

b3

-3 y—2

is /WRAET = 1 ‘i%-

e parallel to x-axis/ x-3{&f & JHTATR

x—3 V-
3

_ __z—i
1 0

The straight line

e parallel to y-axis/ y-3{& & JHTATR
® parallel to z-axis/ z-3& & AR
* perpendicular to z-axis/ z-3{& %m
Correct Answer :-perpendicular to z-axis/ z-3& & qHdq

16)

Question Stimulus :-

If the planes * T 2V T ¥2=0 gng 2% +7~ 22=0 _ 5.6 at right angles, then the value of

kis/ afgquag * T ¥ T k=0 g Z+y- 22=0 _ qqur T9aq ¢, AWk FTAF @ -
o -12
e 12
° 2
¢ 2
Correct Answer :-2

17)
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Question Stimulus :-

FED2+ @ D2+ ER) =2

-

e Or-

ka

e 0
®* None of these/ E'-Tfr 3 aﬁi B

Correct Answer ;-

18)

Question Stimulus :-
(3-1)x (3+Db) =2
[ 2{3 * E}

= —
e AXD

2 _ 32
o T°—h

* None of these/ 's=|1?r J Hﬂi L)

Correct Answer :-2(2% b)

19)
Question Stimulus :-

L(xk) +i(kxi) + k(ixf) =2

Correct Answer :-3

20)

31)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Question Stimulus :-

1+=x 2x 1+=x 2x
If f(x) =log 1 —x]’ then f [m] - / 'qﬁ fx) =log 1 —x]’ dad ! 1+ xz] =7
° [f{x}]z
o [fG]°
o 2f(x)
° 3f(}‘:}

Correct Answer :-21(9

21)

Question Stimulus :-
i[l 1 ]—?

= og (logx)] =7

X

logx

log=

[ ] X

o (xlogx)?

None of these/ §TH ¥ IS T8I

-1
Correct Answer :-x10g%)

22)

Question Stimulus :-

dy 2

d
If V= sin (2sin™1x), then = =? / Tlﬁ y = sin {2sin~1x), a9 d_i =

(32)
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2 —4x?

Correct Answer :-V1—x°
23)
Question Stimulus :-

.. . — 74 _ 1x2 — 20 -
The minimum value of the function ¥ = 2¥° — 21x"+ 36x— 20 o _ / greq
}r: EXE —_ 21X2 + 36— 20 mmm%_

* -128
® -126

* -120

®* None of these/ Fl'ﬁ I ﬁ'{' el

Correct Answer :--128

24)

Question Stimulus :-

1
er.:lngx}zdx =7

log x
loglogx +c
—loglog=z +¢

1

log =

Correct Answer :-

25)

Question Stimulus :-

[tan lxdx =7

(33)
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1 -+
xtan lx + Elug (1+x%)+c

1 ,
xtan"lx — Elng (1+x%)+¢c
o x—1)tan™x+

xtan lx—log(1+x%)+c

1 ,
xtan lx— —log(1+x%) +c
Correct Answer :- 2

26)

Question Stimulus :-

J‘ dx o
(x+1D(x+2)

x+2
log

+c
° x+1

log(x+1)+log(x+2) +c

| ¥ +
° Dgx+2 ¢
e None of these/39H ¥ ®Is T8I
x+1
log T

Correct Answer :- 12

27)

Question Stimulus :-

ra|g

f
COS X
A dx =7

-L 4sin x++4/cosx

e 0

= g

®* None of these/ s':n?r I Hﬁi L

(34)
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T

Correct Answer :-E

28)
Question Stimulus :-

dy
. XE—4+3y=x. x—+3 =x
Solution of * = is-/ d=x ¥ Pl Td %—

5t
x3y+E+c =0

%3 —X—+c
° }r_fil-

x3 +X—4—{]
° y 4

e None of these/3H J ®I5 &l

X4
y=—+c
Correct Answer :-

29)

Question Stimulus :-

The order and degree of the differential equatlon dx"" 7 (_ are / 3dadd

mﬂw-ﬂx“ 1+(J P! pife Td Ud 8-

Correct Answer :-2,2

30)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting the sum 2or8or12is- / |

T} B TP 1Y b ST W G 2 T 8 T 12 YTl P D UIfIPpdT 8-

(39)
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e 5/18
e 7/36
e 7/18
e 5/36
Correct Answer :-7/36

31)
Question Stimulus :-

A coin tossed 4 times. The probability of getting atleast one head is - / TS faer 4 IR
IV ATdT 8, P A HH TH 1R Y U H3 B urirepar -

e 1/16
e 2/16
°* 14/16
* 15/16
Correct Answer :-15/16

32)

Question Stimulus :-

If coefficient of correlation between the variables * and ¥ is zero, then - / gfe A

X 3R Y ¥ fa ggaHEY UNE Y ¢, 99 -
« *and Y have no relation/* 3R ¥ & 19 SIS Ady 81 &

Y decreases as * increases/ Y Ucdl g W * dedl g

Y increases as ® increases/ ¥ degdl % od * dedl %
None of these/ §9H & $Ig T8l

Correct Answer :-* and ¥ have no relation/* 3R ¥ & §i9 &I day "¢ &

33)

Question Stimulus :-

(36)
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If correlation coefficient be zero, then the lines of regression will be - / uﬁmﬂw

Y[ B, T9 AHTHAVT IE@TC G-

e Parallel to axesla{&ﬁ & THETR

e Perpendicular to axes / 3&ff & TFAq

e Inclined at any angle with axes /37&l 9 f&dft ft FoT W gﬂﬁ S

e Coincident /Jurdl

Correct Answer :-Parallel to axes/3i&lf & JHTATR

34)

Question Stimulus :-

as- / A

EptHE

| reax=
)

Simpson’s G

Simpson’s &

h
3

1

3

h
j flx)dx = E[(,}"u +y )t Hy st yat oty ) 2y tys o+ y-a)l
The formula *

is known

[(yo +¥u) + 4y +y3+ -+ yp-a) + 2(yz + ¥a + -+ ¥u-2)]

FHgardl o-

rd

) rule /R aaq &1 G) am
)mrule/ﬁmﬂqﬁ @ g

Trapezoidal Rule/ JHdHW fraw

None of these /3’-'-|'ff I ?:lﬁ'é' &l

1|."d 1
3

Correct Answer :-Simpson’s G) rule/Rgaq &1 G) fram
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